Algebra RH
Essential Question: How do we add and subtract radical expressions?

Do Now: Are the following statements true or false?
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e In order to add or subtract radicals, the radicals must be “like radicals” (same radicand and

same index)
e Add or subtract the coefficients of the radicals and keep the radicand the same
e Simplify final answer
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Perform the indicated operation. All final answers must be in simplest radical form.
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14. Represent the perimeter and area of the following rectangle in simplest radical form.
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